Buckle Bracket Assembly Instructions

The Buckle Bracket Kit includes:

2

(SIS BN ST S I N

+5AA Flared Leg Brackets
End Pieces

36’ Precut Straps

5/16” x 3/4” self tapping screws
5/16” x 1 3/4 hex head screws
5/16” hex nuts

1. Feed one of the precut straps through the slots in the
Flared Leg Bracket

2. Insert one of the 5/16” self taps screws in the center of the
Flared Leg Bracket

3. Insert one free end of the strap through on end piece by threading from underneath
the outer most slot, over the top into the innermost slot and bend strap end down.

4. Feed the other end of the strap into another end piece the same was as above.

5. Attach the two end pieces together with a 1 3/4” hex bolt and secure
with a hex nut.

6. Attach the second set following this same procedure.

Note: The flared ends of the End Pieces should fit tightly together.
Signs are attached with the 5/16” x 3/4” self tap screw.

SL

SPECIAL LITE

QUALITY OUTDOOR PRODUCTS SINCE 1967

Note: Two of the
brackets shown are
required per sign.



